Eureka Math™ Homework Helper

2015-2016

Grade 1 |
Module 1
Lessons 1-39

of the copyright holder.
are registered trad




 Homework Helper AStoryofUmts

G1-M1-Lesson 1

1. Circle 5. Then, make a number bond.

| circled 5 balls, and there

‘ ~ 3 .
@ @ @@ ?::Zn cr:::r:i on from 5 to

find the total.

@ @ @ Fiiiive, 6,7, 8.

Number Bond

8 | & whole | can make a number bond
for the soccer balls.
/ 5 and 3 are the parts.

part 5 3 | & part The whole, or total, is 8.

2: Make a number bond for the domino.

4 | see 4 dots and 2 dots, so
6 4 and 2 are the parts.
9 / There are a total of 6 dots.
EUREKA Lesson 1: Analyze and describe embedded numbers (to 10) using 5 groups and 1

MATH" number bonds.
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~ Homework Helper

G1-M1-Lesson 2

1. Circle 2 parts you see. Make a number bond to match.

part (4)

| see a group of 4 and
a group of 3.

My parts are 4 and 3.

part (3)

~ Astoryof units B

whole

> whole

2N

part part

2. How many fruits do you see? Write at least 2 different number bonds to show different ways to break

apart the total.
9 | see 6 small ‘ ' ’
pieces of
PN fruit and 3 6 6 6
6 3 large pieces .
of fruit. c

Lesson 2:

EUREKA
MATH
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bonds.

lalso see 5

apples and 4 9

strawberries. PN
5 4

Reason about embedded numbers in varied configurations using number



 HomeworkHelper ~ AstoryofUnits 5

G1-M1-Lesson 3

Draw one more in the 5-group. In the box, write the numbers to describe the new picture.

/\/\A /\ /\ There were 6, and

ldrew 1 more.

AA Now there are 7.

6
1 morethan6is _7 . \
d ’
6+1=_7 1
EUREKA Lesson 3: See and describe numbers of objects using 1 more within 5-group 3

MATH" configurations.
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G1-M1l-Lesson 4

By the end of first grade, students should know all their addition and subtraction facts within 10.

The homework for Lesson 4 provides an opportunity for students to create flashcards that will help them
build fluency with all the ways to make 6 (6 and 0,5 and 1, 4 and 2,3 and 3).

e Some of the flashcards may have the full number bond and number sentence.

Front: Number Sentence : Back: Number Bond
In this number / 2
214=6 sentence, the 6
parts are 2 and 4. \ 4
- The total is 6. ' Ssee

e Others may have the number bond and just the expression.

Back: Number Bond

/ 2
2 + 4? Hmmmm... 6 \
Twooo000, 3,4,5, 6. .;4.'.

The total is 6.

Front: Expression

2+4

EUREKA Lesson 4: Represent put together situations with number bonds. Count on from 4
MATH'" . one embedded number or part to totals of 6 and 7, and generate all
) addition expressions for each total.
© 2015 Great Minds eureka-math.org
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 HomeworkHelper  AStoryofUnits

G1-M1-Lesson 5

1. Make 2 number sentences. Use the number bonds for help.

This number bond has the parts 1 and
4, and the whole is 5. | can write my
number sentence starting with the
whole,5 =4+ 1.

3 and 2 are the parts in one of my
number bonds, so 1 know 3 + 2 = 5.

2. Fill in the missing number in the number bond. Then, write addition number sentences for the number
bond you made.

0 needs 5 more
to make 5.

One sentence
can start with
" my biggest part.

N 0 | -
5 - 0 @ 5 The other one

can start with
my smallest
part.

In addition to tonight’s Homework, students may wish to create flashcards that will help them build fluency
with all the ways to make 7 (7 and 0, 6 and 1,5 and 2,4 and 3).

EUREKA Lesson 5: Represent put together situations with number bonds. Count on 5
MATH" from one embedded number or part to totals of 6 and 7, and generate all
addition expressions for each total.
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G1-M1-Lesson 6

1. Show 2 ways to make 7. Use the number bond for help.

5 2 When | just write 5 + 2, without
5 2 .y . .
.~ writing the full number sentence,
it's called an expression.
.7 . 2 @ 5 See, it doesn't have an equal sign!

2. Fill in the missing number in the number bond. Write 2 addition sentences for the number bond.

0
7] =10 |® |7

When | add the equals

symbol and total, it’s

called a number sentence.
EUREKA Lesson 6: Represent put together situations with number bonds. Count on from 6
MATH" one embedded number or part to totals of 8 and 9, and generate all

addition expressions for each total.
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3. These number bonds are in an order, starting with the smallest part first. Write to show which number
bonds are missing.

| made all the number

PN PN N\ bonds for 5.

4. Use the expression to write a number bond, and draw a picture that makes 8.

Expression Picture Number Bond
| can use my picture

to count on and find Q
XX XXX
5 @ 3 the total. o

00O Fiiiiiive.....

..6,7,8.
My total is 8.

In addition to tonight’s Homework, students may wish to create flashcards that will help them build fluency
with all the ways to make 8 (8and 0,7 and 1,6 and 2,5 and 3,4 and 4).

EUREKA Lesson 6: Represent put together situations with number bonds. Count on from 7
MATH" one embedded number or part to totals of 8 and 9, and generate all

addition expressions for each total.
® 2015 Great Minds eureka-math.org
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‘G1-M1-Lesson 7

Use the pond picture to help you write the expressions and number bonds to show all of the different ways to
make 8.

3 animals are in the pond. 1 animal is splashing.

5 animals are on land. 7 are not.

There are 8 animals in all. "There are 8 animals in all.

Number Bond Expressions Number Bond Expressions

3\8 3 |*| s 1\8 1|+t 7
/ v

This number bond and This number bond and

expressions show one
way to make 8.

expressions show
another way to make 8.

In addition to tonight's Homework, students may wish to create flashcards that will help them build fluency
with all the ways to make 9 (9and 0,8 and 1, 7 and 2, 6 and 3, 5 and 4).

EUREKA Lesson 7: Represent put together situations with number bonds. Count on from 8
MATH" one embedded number or part to totals of 8 and 9, and generate all
addition expressions for each total.
© 2015 Great Minds eureka-math.org
G1-M1-HWH-1.3.0-08.2015




 HomeworkHelper ~ AStoryofUnits

- G1-M1-Lesson 8

1. Rexfound 10 bones on his walk. He can’t decide which part he wants to bring to his doghouse and which
part he should bury. Help show Rex his choices by filling in the missing part of the number bonds.

TS At My 10 fingers can
W@ . represent the 10 bones.

total bones

10 If Rex buries 4 bones, he'll
N put 6 in his doghouse.
buries > | 4 6 | & doghouse '

2. Write all the adding sentences that match this number bond.

O
©

[}
W~

4 6 10 10

olt
O,

In addition to tonight’'s Homework, students may wish to create flashcards that will help them build fluency
with all the ways to make 10 (10 and 0,9 and 1, 8and 2, 7 and 3, 6 and 4, 5 and 5).

EUREKA Lesson 8: Represent all the number pairs of 10 as number bonds from a given

MATH" scenario, and generate all expressions equal to 10.

© 2015 Great Minds eureka-math.org
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G1-M1-Lesson 9

1. a. Use the picture to tell a math story. b. Write a number bond to

match your story.
There were 5 balls.

2 more rolled over. 5
Now there are 7 balls. .
2
c. Write a number sentence to tell the story. d. Now there are __7 _ balls.

5 + 2 = 7

2. Marcus has 5 red blocks and 3 yellow blocks. How many blocks does Marcus have?

' | can draw a math
red 5 picture and
8 number bond to
match the story!

yellow 3
' Then | can answer
the question with
a number
5 + 3 = 8
Marcus has _ 8 _ blocks. sentence and

word sentence.
EUREKA Lesson 9: Solve add to with result unknown and put together with result unknown math 10
MATH"‘ stories by drawing, writing equations, and making statements of the solution.

© 2015 Great Minds éureka-math.org
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G1-M1-Lesson 10

1. a. Useyour 5-group cards to solve. b. Draw the other 5-group
card to show what you did.

I see 4 little tortoises
and 3 big tortoises.

000

‘d
ot

My 5-group cards can help me add. |
just start at 4 and count on 3 more.
Foooour...,, 5,6,7.

o

My number sentence shows that 4
4 + 3 = 7 little tortoises plus 3 big tortoises
equals 7 total tortoises.

2. Kira has 3 cats and 4 dogs. Draw a picture to show how many pets she has.

cats dogs My math picture
O O O O O O : can be just circles!
3 + 4 = 7 4 In my number bond,
7 the parts are 4 and 3.
3 The total is 7.

My number sentence shows that .
3 cats plus 4 dogs equals 7 pets! Kirahas _7 _ pets.

Lesson 10; Solve put together with result unknown math stories by drawing and using 5- 11
group cards.

EUREKA
MATH

© 2015 Great Minds eureka-math.org
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G1-M1l-Lesson 11

~_ Astory of Units |

1. Use the 5-group cards to count on to find the missing number in the number sentence.

Ut
+
~
|
@
00000

000

5 plus “the mystery

number” equals 8.

Hmmm.....

| can draw dots as

| count on to 8.

5 + 3 = 8

N

| drew 3 more dots.
L “The mystery number” is 3.

2. Match the number sentence to the math story. Draw a picture, or use your 5-group cards to solve.

Larry had 3 books. His brother gave him some more. Now

him?

had brother

000 | 000000

Larry’s brother gave him _6  books.

he has 9 books. How many books did Larry’s brother give

| can draw 3 circles to | drew 6 more circles, so
show how many books his brother must have
Larry had. Then | can draw given him 6 books.

more until there are 9.

This number sentence matches
the story because 3 books plus
“the mystery number” of books
equals 9 total books.

EUREKA Lesson 11: Solve add to with change unknown math stories as a context for counting 12
MATH'- on by drawing, writing equations, and making statements of the solution

® 2015 Great Minds eureka-math.org
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G1-M1-Lesson 12

1. Use your 5-group cards to count on to find the missing number in the number sentences.

oy

| can count on from 5 to
find the mystery number.

| counted on 4 more, so
the mystery number is 4.

0000

The mystery numberis | 4

2. Shana had 5 hats. Then she bought some more. 5 plus “the mystery
She has 8 hats now. How many hats did she buy? number” equals 8.
. Hmmm...
| can start at 5 and _
draw dots as | count
onto 8. 5 8 > + 3 - 8
Fiiiiive..., 6,7, 8. o) PN
1 drew 3 more dots.
The “mystery number” is 3.
Shana bought _3 hats.
EUREKA Lesson 12: Solve add to with change unknown math stories using 5-group cards. 13

MATH

© 2015 Great Minds eureka-math.org
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G1-M1-Lesson 13

Use the number sentences to draw a picture, and then fill in the number bond to tell-a math story.

Hmmm... What story could | tell
to match the number sentence
1. 3+3=6 3+3=67

000 | [
VVIE

I have anidea! | baked 3 round cookies
and 3 heart-shaped cookies. | baked 6

~ cookies in total. | can draw the cookies
to show my story.

I can make a number
bond to match my storyl

Hmmm... this problem has a mystery number.

2. 44+7=6 1 know a story that would match! My brother
had 4 marbles. Then he found some marbles
under the couch. Now he has 6 marbles.
How many marbles did he find?

0000 |00 -
6
2
I can draw 4 circles for the marbles
he had. Then | can draw some
more circles until | have 6 marbles.
EUREKA Lesson 13: Tell put together with result unknown, add to with result unknown, add to with 14

M ATH" change unknown stories from equations.

© 2015 Great Minds eureka-math.org
G1-M1-HWH-1.3.0-08.2015




,HbmewbrkHelper - . A Story of Umts

G1-M1-Lesson 14

Count on to add.

Write what you say
To add 6 + 2, 1 don’t when you count on.
have to count all my
fingers. | can just start at o
6 and count on 2 fingers!

a 6 + 2 = 8
There are 2 missing : —E
numbers for this problem. \ £ £
! can make up my own '
count on problem! '
b 8 = 5 + 3
EUREKA Lesson 14: Count on up to 3 more using numeral and 5-group cards and fingers to 15

MATH'- track the change.

© 2015 Great Minds eureka-math.org
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G1-M1l-Lesson 15

Use your 5-group cards or your fingers to count on to solve.

1.
5 + 2 = 7 Show the shortcut you used to add.
5 + 2 = 7
lused my
I'll startat 5 fingers as a
and count shortcut, so I'll
on 2 fingers. draw them!
2.
6 + 3 = 9
Show the shortcut you used to add.
6 + 3 = 9
I'll start at 6
and count
the three o000
dots on my
five group
card.
Siiiix...
I used my 5-group
cards as a short-cut.
| can draw the card.
EUREKA Lesson 15: Count on up to 3 more using numeral and 5-group cards and fingers to 16-

MATH" track the change.

© 2015 Great Minds eureka-math.org
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G1-M1-Lesson 16

1. Use simple math drawings. Draw more to show 6 + 7= 09,

N

I can start at 6 and |

count on as | draw. ['ll @ O @ i O O o _

stop when | get t0 9. | h ?
\

Siifiiiiix... @ @ @

6 + 3 = 9 .
| drew 3 more circles,
so6+3=0,
2. Use your 5-group cards to solve 4 + 7= 6.
| can start at 4 and draw Y
the dots that are on the 4 ’ = 6
back of a 5-group card.
Fooour...
4 + 2 = 6
| drew 2 dots,
so4+2=06.
EUREKA Lesson 16: Count on to find the unknown part in missing addend equations such as 17
MATH" 6+__=9. Answer, “How many more to make 6, 7, 8, 9 and 10?”

© 2015 Great Minds eureka-math.org
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G1-M1-Lesson 17

1. Match the equal dominoes. Then, write true number sentences.

o ) fﬁ
There are 10 dots : : : 3+3=6+0
on each of these o0 : °
dominoes. ; — f \
| can write a true
number sentence for
° the dominoes.
9 and 1 makes 10. 5
and 5 also makes 10.
N Mo ) °
e So, 9+ 1 equals 5 + 5.
o [ ]
[ ®
._ ._
[ ]
[ J
H H
[ =
- ° 9+1=5+5

2. Find the expressions that are equal. Use the equal expressions to write true number sentences.

2+3and1+4
both equal 5.
a.2+3=1+4 1 can use these equal
expressions to make a
b.3+41=2+4+2 true number sentence.
EUREKA Lesson 17: Understand the meaning of the equal sign by pairing equivalent ‘ 18
MATH'- expressions and constructing true number sentences.

® 2015 Great Minds eureka-math.org
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G1-M1-Lesson 18

1. The pictures below are not equal. Make the pictures equal, and write a true number sentence.

< @
s D Dl ~
<> QD [ know that 6 + 3 equals 9.
< - @ ‘ I can count 7 smiley faces.
p @ . If | draw 2 more smiley

faces, | can make a true

6+3 — 719 number sentence because

7 + 2 also equals 9. J

2. Circle the true number sentence(s), and rewrite the faise sentence(s) to make it true.

I know that 5 + 1 is \
6,and6+1is7. 61is
not equalto 7. | can
make this number
sentence true by
changing5+1to5+ 2

so it equals 7. j

L 6r0=4+2 Y 541=26+1
(. D

5+2=6+1

3. Find the missing parts to make the number sentences true.

'

7+1=4+ _4_ 44+3=5 +2

| know that 7 + 1 equals 8. So, the other side
must also equal 8 for this to be a true number
sentence. | know my doubles: 4 +4 = 8.
The missing part is 4.

EUREKA ) Lesson 18: Understand the meaning of the equal sign by pairing equivalent 19
MATH'- expressions and constructing true number sentences.

© 2015 Great Minds eureka-math.org
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G1-M1-Lesson 19

1. Use the picture to write a number bond. Then, write the matching number sentences.

3 + 5 :i
5 + 3 =8
8 4+ 2 =_0

Lesson 19:

EUREKA
MATH

© 2015 Great Minds eureka-math.org
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commutative property).

Represent the same story scenario with addends repositioned (the

| can add in any order, but it is
easier to start at 6 and count on 2.
Siiiix, seven, eight! 1love the
counting on strategy!

For both number \
sentences, the parts

are 3 and 5, and the

total is 8. The ordér of
the addends doesn’t
matter when | solve. /

Since 10 is the total and \
one partis 2, | know the
other part must be 8. |
know my partners to 10,
and I can add them in any
order,8+ 2 or2 + 8.

" J

20




G1-M1-Lesson 20

1. Color the larger part, and complete the number bond. Write the number sentence, starting with the
larger part.

L

.H
4 @ 3 - 7 4 + 3 is the same amount
as 3 + 4. It's a lot faster

for me to count on from
the larger addend:
foooouur, five, six, seven.

When I start with the
2 — 8 larger addend, 6,1 don't
have to count on as
much: Siiiix, seven, eight!

- 21

EUREKA Lesson 20: Apply the commutative property to count on from a larger addend.

MATH
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1. Draw the 5-group card to show a double. Write the number sentence to match the card.

4 I can add the same number two
times, like 4 + 4 = 8. Thisis
called a doubles fact. | can

4 picture flashing doubles fingers in
my mind... 4 and 4 makes 8.

4+4=8

2. Fillin the 5-group card in order from least to greatest, double the number, and write the number
sentences.

1 2 | know my doubles facts: 1+ 1 = 2.
1 2 ~N 2+ 2 = 4. The next one would be

3 + 3 = 6. It's just like counting by
2s: 2,4,6:

1+1=2 2+2=4

3., Match the top cards to the bottom cards to show doubles plus 1.

1 4
. Since | know that 4 + 4 = 8, then [ know my
' doubles plus 1,4 + 5 =9. I can picture the
5-group cards to help me solve. The

doubles plus 1 fact has just 1 more dot!

4. Solve the number sentence. Write the doubles fact that helped you solve the double plus 1.

3+4=7 3 + 4 is related to 3 + 3 because it’s
making doubles and adding 1 more. There
is a doubles fact hiding inside 3 + 4.

3+3=6

EUREKA Lesson 21: Visualize and solve doubles and doubles plus 1 with 5-group cards. . 22

MATH
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G1-M1-Lesson 22

Solve the problems without counting all. Color the boxes using the key.

Step 1: Color the problems with “+ 1" or “1 +” blue (B).
Step 2: Color the remaining problems with “ + 2” or “2 +” green (G).

Step 3: Color the remaining problems with “+ 3” or “3 +” yellow (Y).

& b. c. d. In parts ¢ and d,\
B B i \ P
it’s like when we
8+ 1= 9+ 1 =10 34+45= 513=8 addedina
= s to=2 t3=2 different order.
e G f. v R h. ] < The thJtaI is the
: : samel )
6+2 = 4+ 3 = 6+1=7 2 +8=10

In parts e and h, | can
In parts aand b, | can add 1 each time, think of counting on by
and the total goes up by 1. It's just the 2 each time.

next counting number!

EUREKA Lesson 22: Look for and make use of repeated reasoning on the addition chart by 23

MATH'- solving and analyzing problems with common addends.
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G1-M1-Lesson 23

A Story of Units

Fill in the missing box, and find the totals for all of the expressions. Use your completed addition chart to

help you.
542 543 1 can see which expressions
equal 8. They make a
7 8 diagonal line. Look, totals for
642 6+ 3 9 and 10 do the same thing!
8 9
7+2 74+3
9 10
8 + 2 /KI know that 8 + 2 is the missing
+ expression in this column because these
10 are +2 facts. When I look at the first
addend, | see it increases by 1 each time:
5,6,7,...50 8 comes next!
3+4 345 3+6
The totals at the bottom
7 8 9 of each column are 10.
They look like a staircase!
444 445 446
8 9 10
5+ 4 545
9 10
6+ 4 | know to write 4 + 6 in this box. In each row,
the first addend stays the same, but the second
10 addend increasesby 1,504 +4, 44+ 5,4 +6.
The totals increase by 1, too: 8,9,10.
EUREKA Lesson 23: Look for and make use of structure on the addition chart by looking for 24

MATH
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G1-M1-Lesson 25

1. Break the total into parts. Write'a number bond and addition and subtraction number sentences to
match the story.

Jane caught 9 fish. She caught 7 fish before she ate lunch. How many fish did she catch after lunch?

) 7 @ 2 1l =109 | can use counting on )
<4 &4 and an addition
<E>q <4 sentence to solve.
< A <224 9 @ 7 = 2 Seeeven, eight, nine!
Jane caught __ 2 fish after lunch. Since | know the
9 whole and one
/\ part, | can also use
subtraction to find
7 2 the other part.

J

2. Draw a picture to solve the math story.

Jenna had 3 strawberries. Sanjay gave her more strawberries. Now, Jenna has 8 strawberries. How
many strawberries did Sanjay give her?

b b 8 3 5 | =1| 8
b bb N 8 83 = |5
b b@ 3 5 =

Both of my number

sentences match my
number bond!

-

8 stands for the total number of
strawberries Jenna has. 3 stands

j 5 i fs
Sanjay gave her f.or the strawberries Jenna had at Addition and
strawberries. first. 1 know the.total and one subtraction both have
kpart. i need to find the other part. \parts and a whole. j
EUREKA Lesson 25: Solve add to with change unknown math stories with addition, and relate 26
MATH- to subtraction. Model with materials, and write corresponding number
sentences.

© 2015 Great Minds eureka-math.org
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G1-M1-Lesson 27

1. Use the number path to complete the number bond, and then write an addition and a subtraction -
sentence to match.

[1]2[3J4a]s5T6[718]9]10|

I can count back from 9 using 2

24+7=9 hops. |getto 7. That means 7
is the missing part of the
number bond. 9 -2 = 7 and
2+7=09.

2. Solve the number sentences. Pick the best way to solve. Check the box.

» @

Count on - Count back
a9-1=_28 X
-7 = 1
b. 8-7 x
For 9 - 1,it’s faster to count back, since
that would just be 1 hop back. 9-1 = 8.
8 and 7 are close together though, so it’s
faster to count on from 7.
7 + 1 = 8, so that's just 1 hop forward.
EUREKA Lesson 27: Count on using the number path to find an unknown part. 28

MATH
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3. Solve the number sentence. Pick the best way to solve. Use the number path to show why.

Count on Count back

X

YY),
[1] 2] 3] 45X 6] 7] 8] 9] 10}

[ counted ___on because it needed fewer hops.

8 and 5 are numbers that are
close together. It's faster to count
on when the numbers are close
together. I'll start at 5 and count
3 hops to get to 8.

4, Make a math drawing or write a number sentence to show why this is best.

9 and 7 are close together, too. It's
faster to count on when the numbers
are close together. 7+ 2 =0.

If the numbers were far apart, like
9 -2, | would have counted back.

EUREKA Lesson 27: Count on using the number path to find an unknown part. 29

MATH
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G1-M1-Lesson 30 .

Solve the math story. Draw and label a picture number bond to solve. Circle the unknown number.

Lee has a total of 9 cars. He puts 6 in the toy box-and takes the rest to his friend’s house. How many cars
does Lee take to his friend’s house?

cars

000000000 N
/ 6 3
000000 -

toy box friend’s house

©
o
lw
"
I
w0

Lee takes 3 cars to his friend’s house.

" | can draw 9 circles for the 9 cars. | put 6 circles in the toy box, and thenm
count on as | draw more cars in the box that says “friend’s house.” That’s
3 more cars. Lee takes 3 cars to his friend’s house.

In the number bond, | can show 9 is the total number of cars. The part
that he puts in the toy box is 6, and the part that he takes with him is 3.

6+3=09

K 9-6=3. /

EUREKA Lesson 30: Solve add to with change unknown math stories with drawings, relating 32

MATH" addition and subtraction.
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G1-M1-Lesson 31

The sample problem below shows two possible number sentences. Both are considered reasonable and
correct. If your child chooses to write the first number sentence, suggest that he/she draw a box around the
solution.

Make a math drawing, and circle the part you know. Cross out the unknown part. Complete the number
sentence and number bond.

A store had 6 shirts on the rack. Now, there are 2 shirts on the rack. How many shirts were sold?

NN N N 6 When | solve with \
O O \_) \J NG \‘) /\ subtraction, | can still use a
number bond to think of
2 4 addition. If 6 is the total
and 2 is one part, the other
art must be 4.
flknow how to make a quick ° J
math drawing! | can circle 2
dots since there are 2 shirts 6 @ 4 = 2
left. 1 can draw a line through | can write 6 minus

4 shirts. My line looks like one

\big subtraction sign!

the mystery box
because | don’t know
how many shirts were
sold. But!know that
2 shirts ended up on
the rack. 6 minus

something is 2. j

"
o

NOIE

4 shirts were sold. Both of my number
sentences match my

number bond! Addition
and subtraction both
have parts and a whole.

EUREKA Lesson 31: Solve take from with change unknown math stories with drawings. 33

MATH
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G1-M1-Lesson 32

1. Match the math stories to the number sentences that tell the story. Make a math drawing to solve.

a.

There are 9 flowers in a vase.
5 are red.

The rest are yellow.

How many flowers are yellow?

00000 OOO\O !

w
I
N |

yd

/ S
There are 10 apples in a basket.

©
O

3 are red. @ |
©

The rest are green.
How many apples are green?

0000000000 [

For the first math story, | can draw 5 circles for the red flowers, and
then | can count on and draw until | have 9 circles. |see that there
are 4 yellow flowers. This story goes with the second box of number
sentences. | can tell because the total number of flowers is 9 flowers.
5 plus 4 equals 9, and 9 take away 5 equals 4.

For the second math story, | can draw 10 circles for the 10 apples.
Then | can circle the 3 that are red. That leaves 7 green apples. This
goes with the first box of number sentences. 3 plus 7 equals 10.

10 minus 3 equals 7. )

EUREKA Lesson 32: Solve put together/take apart with addend unknown math stories. 34

MATH
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2. Use the number bond to tell an addition and subtraction math story with pictures. Write an addition and
subtraction number sentence.

_ Astory of Units

For my addition math story, | can draw 2
big pears and 4 little pears. There are 2
big pears and 4 little pears. How many
pears do | have in all? That goes with
the number sentence 2 plus 4 equals 6.

N

EUREKA

MATH
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For my subtraction math story, | can draw
6 pears. There are 2 pears left. How many
pears did | eat? | can circle the 2 pears
that are left and then cross out the pears
that | ate. That shows that | ate 4 pears.

6 minus 4 equals 2.
N\ /

Solve put together/take apart with addend unknown math stories.
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G1-M1-Lesson 33

1. Show the subtraction. If you want, make a 5-group drawing for each problem.

00909 [ wasn't sure about 5 -1,
5.1= 4 5.0=5 so | drew it out, but | know
- - 5-0is5,s0ldon’t need
to draw.

2. Show the subtraction. If you want, make a 5-group drawing like the model for each problem.

e

2 | know 10 -0 =10,
- so | am not going to
-
-
—

draw this one.

| am going to draw
this one to solve it.

3. Write the subtraction number sentence to match the 5-group drawing.

e9Pe9 O aoo This one is tricky, but |

can solve it. 8 minus

_ something has to
9-0=29 equal 0. Both sides of
4. Fill in the missing number. Visualize your 5-groups to help you. the equal sign have to

be the same amount.
8 -8 is the same

amount as 0.

| can imagine 9 circles in my mind. How much do
| take away to have 8 left? Just 1. 1 canerase 1
of my 9 in my mind, and | would have 8 left.

EUREKA
MATH
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Lesson 33: Model 0 less and 1 less pictorially and as subtraction number sentences. 36
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G1-M1-Lesson 34

1. Cross off to subtract.

2. Make a 5-group drawing like those above. Show the subtraction.

99909 -5-0900-

1=5- 4 5-5=0

3. Make a 5-group drawing like the model for each problem. Show the subtraction. IS \

4. Write the subtraction number sentence to match the 5-group drawing.

2999954 O

8-7=1

5. Fill in the missing numbers. Visualize your 5-groups to help you

EUREKA Lesson 34: Model 1 — n and n— (n — 1) pictorially and as subtraction sentences. 37

MATH
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G1-M1-Lesson 35

1. Solve the sets of number sentences. Look for easy groups to cross off.

Q ]
To take away 5, it's easiest 8 % To subtract 3, | can just cross off \
to cross off the whole group ‘ the three white dots. They are an
of 5 black dots. 1don’t have : easy group to see, and then | will
to count them. Then | have e be left with a group of 5. Idon’t
3 white dots left. ® have to count those dots because
® I know there are 5 black dots in
8-5 =3 my 5-group drawing. J
8-3 =05

2. Subtract. Make a math drawing for each problem like the ones above. Write a number bond.

4 | can take away the 5
black dots all at once,

\ and then | can see |
4 have 4 left without
counting.

-809898¢8- 0000

9-5=_%4
9-4 =75

| know 4 and 4 are
doubles that make 8,
s08-4 =4,

| can imagine my 5-group
drawing with 5 black dots
and 3 white dots. That’s 8.

3. Solve. Visualize your 5-groups to help you.

[f 1 imagine 8, there is a
group of 5 and a group of 3.

EUREKA Lesson 35: Relate subtraction facts involving fives and doubles to corresponding 38

MATHM decompositions.
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4. Complete the number sentence and number bond for each problem.

10

/

5 5

10-5=_5

5. Match the number sentence to the strategy that helps you solve.

7-2=5 =
doubles
6-3=3
20999 00000
. . 5-groups
1 can imagine my 5-group

drawing. 7 is made with a
group of 5 and a group of
2. The missing partis 2.
I'll draw a line to the

C}-groups box.

The 5-group that makes 6is 5
and 1. That won’t help me
much. Let me think of the
double that makes 6... 3 and 3.
Yes, 6 -3 is 3. Doubles helped
me solve this problem. I'll draw

a line to the doubles box. J

EUREKA Lesson 35: Relate subtraction facts involving fives and doubles to corresponding 39

MATH" decompositions.
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G1-M1-Lesson 36

1. Solve the sets of number sentences. Look for easy groups to cross off.

/Ican find the 6 in 10 really
easily. 6is made of 5 black
dots and 1 white dot. | can
cross that off all at once.
That leaves me with 4.

10-6 = 4.
\J

To take away the other part, | can cross
off 4 from the end. That would leave
me with 6. 10 -4 = 6.

-899899-S50000
099099 OTOSS—

10-6=_4_

10 -6 =4

2. Subtract. Then write the related subtraction sentence. Make a math drawing if needed, and complete the
number bond for each.

8

10 t don’t need to make a math drawing. | \
know that 8 and 2 make 10. In my

2 number bond, | know the total is 10 and
the two parts are 8 and 2. To write my
related subtraction sentence, | need to
10-8=_2_ subtract the other part. 10-2 = 8. /

10-2=8

EUREKA Lesson 36: Relate subtraction from 10 to corresponding decompositions. 40

MATH
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3. Complete the number sentence and number bond for each problem. Match the number bond to the
related subtraction problem. Write the other related subtraction number sentence.

10
L 10-6 =4 10-4=06

-7=23 10- 3 =7
10 10 -7 =23 -3 =7

| know my partners to
10. 3 and 7 make 10.
4 and 6 make 10.

| have to look for the subtraction sentence that is
taking away a part. | can match 10 - 7 with the first
number bond. The missing part is 3. Then [ will
write a second subtraction sentence to show taking
away the OTHER part. That would be 10 -3 = 7.

EUREKA Lesson 36: Relate subtraction from 10 to corresponding decompositions. 41

MATH
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G1-M1-Lesson 37

1. Make 5-group drawings and
sentence that matches your

~_AStory of Units

solve. Use the first number sentence to help you write a related number
picture.

easily. 6is made of 5 black
dots and 1 white dot. 1 can

(Ican find the 6 in 9 really
cross that off all at once.
That leaves me with 3.

\9 -6=3.

To take away the other part, | can
cross off 3 from the end. That
would leave me with 6. 9 -3 = 6.

—89999-°000
9999 00S0—

\o O
I |
%) [o)Y
oo
) |w

2. Subtract. Then, write the related subtraction sentence. Make a math drawing if needed, and complete

the number bond for each.

e

Eu REK“‘A Lesson 37:
MATH
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1 don’t need to make a math drawing. | know that 5 and 4
make 9. In my number bond, | know the total is 9 and the
two parts are 4 and 5. To write my related subtraction
sentence, | need to subtract the other part. 9-5=4.

42

Relate subtraction from 9 to corresponding decompositions.
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3. Use 5-group drawings to help you complete the number bond. Match the number bond to the related
subtraction problem. Write the other related subtraction number sentence.

9
\ 9-4=5 9-5=14
6 3
> 9-3=56 9-6=23
9
4

| have to look for the subtraction sentence that is
taking away a part. | can match 9 - 3 with the first
number bond. The missing partis 6. Then | will
write a second subtraction sentence to show taking
away the OTHER part. That wouldbe 9 -6 = 3.

| can think of my 5-group w
drawings to help me. Whenl|

picture 9 and | take out 4, that
leaves me with 5. | could make

a drawing if | want, but | don’t
Qeed to. 9is made of 5 and 4. J

43

EUREKA Lesson 37: Relate subtraction from 9 to corresponding decompositions.

MATH
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G1-M1-Lesson 38

Find and solve the addition problems that are doubles and 5-groups.

~ AstoryofUnits [FES

Make subtraction flashcards for the related subtraction facts. (Remember, doubles will only make 1 related
subtraction fact instead of 2 related facts.)

Make a number bond card, and use your cards to play Memory.

5+5= 10is a double

ol fact and uses a 5-group.
540 | 5+41| 542 | 543 [5+4]5 Both addends are 5.
6+0 6 +1 6 + 2 6 + 3 6 + 4 5 + 4 uses a 5-group since 5 is
one of the addends. I'll make the
_ subtraction flashcards
7+0 7+1 7+2 7+3 9-5=4and9 -4 = 5. Thisrow
has more facts that use a 5-group.
8+ 0 8+ 1 8 + 2
9+ 0 9 + 1
10 + 0 544=9 9—4=5
5 and 4 are the 5
parts that make 9. /
9 9—-5=4
\ .
EUREKA Lesson 38: Look for and make use of repeated reasoning and structure, using the 44

MATH" . addition chart to solve subtraction problems.
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G1-M1-Lesson 39

Solve the unshaded addition problems below. Write the two subtraction facts that would have the same
number bond. To help you practice your addition and subtraction facts even more, make your own number
bond flash cards. ' ‘

5+0[5+1[54+2|5+3|5+4|5+5

6+06+1]|64+2|6+3|6+4
: 5 + 4 uses a 5-group,
since 5 is one of the
7+0l7+1l7+2|7+3 addends. I'll make the
subtraction flashcards
9-5=4and9-4=5.

8+0|8+1]|8+2

: . 7+ 2is 9. | can make two
L9 01941 subtraction sentences, starting
with the total of 9.

9-7=2and9-2=7.

10:+0
9-7=2 9-2=17
10-7=3 10-3=7
v ’ v ’
9 N 10
2 \ 3
EUREKA Lesson 39: Analyze the addition chart to create sets of related addition and 45

M ATH" subtraction facts.
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